XS =3 (timekeeping)

| MODE

Timekeeping
1 JANUARY

2010

00:00:04

RESET

START

. Adjust - AlZH 278 2}

HOoZ 0|=

. Reset - 48 o= =&l

2|
Al mode select 3tHO
2 0|ls

. Mode - CI2 7|52 2

Ol

. Start - x



1. timekeepingMl A adjust 28 Al A|ZH =F 31H

ADJUST

MODE

AdjustTime [2010]
JANUARY 1

00:00:25

RESET

4

START

I_|-E|-'—f A|7FO|
timekeepingdl &

. Reset — x



ADJUST

MODE

Timer

01:00:00

RESET

START

. Adjust — Timer A|ZH &

M slHo 2 0|

Reset — 22 Al ™ E
EIO|HE Z&=7|2t/ 4H
A= =5 Al mode

1 = 1

select 2tHO 2 O|=

Mode - L& 7|22
Ol

. Start — 22 A| EfO|H

o5 Al



adjustTimer2}H

léj

1
| ADJUST

| MODE

AdjustTimer

[00]:00:00

ESET

4

START

Adjust — AlZE =7 2t
= HE. 28 Al EIO|H
Of Xl=77tX| 2783t Al
{t0| &g &,

Reset — x

Mode — 28 A| 87
S HEAEA, & =&
ME 2 HAM O|=
Start - 2 A| AXY 4
d3 =0 2&22| 4t 7t



ADJUST

MODE

Alarm [1/4]

No Alarm

RESET

START

4.

Mode - LI 7|2 2
Ol

Start - 28 A| L}z @
Sl Ao 2El0| 3tHO
LIEFE



addAlarm

1. Adjust—- 28 A| 47
- -2 otz st ole Ao A
SE YEAIZE HIY
Alarm [2/4]
1 5 2. Reset — x

ADJUST RESET

3. Mode - A|, 2 =2 =
XM Ols(FAM 7L 2K

ot B9 & =28 7tS)

4. Start — 22| A| HAM}
[04] - 00 Q| k|t HEOo| 7t BT}
[ |

MODE START




stopwatch

ADJUST

MODE

Stopwatch

REC 00:00:00:00 2

. Reset - A= K| 22
A

RESET

OO:OO:OO:OQz

START

. Adjust - 2 & Al XY

A= X 452 record

X7zt 4H 2E! A
mode selectZ O| =,

. Mode - CI2 7|52 2

Ol

. Start - 2E QX =&

NES



ADJUST

MODE

Tide East Sea

2

RESET

START

. Adjust — x

. Reset — 4 S &l A

mode selectZ 0| &

. Mode - CI2 7|s2 2



Moonphase(Z®0f| &= & 2 A

£h
r _ 0 > 1. Adjust - x
2. Reset 4H 22! A|
Moonphase mode selectZ 0| 3.
1 2 .
ADJUST RESET 3. I(\)/lloEde - El’% 7|32§
4. Start — x
3 4

MODE

START




[I!_l_c

Mode select

ADJUST

MODE

TimeKeeping
[V] checked

TimeKeeping

2

| RESET

START

MY g Q
HHE 22 A x¢
stol = MY Y x
Of XX| %= 8% o
A X] ==
. Reset —x

. Mode - Ct& 7|5 MEH

tHO Z O|F

. Start - 7| MHE

(checked/unchecked)
(0]0] 4747} MEHEl =

checkedE 2|8l 22 Al
ol AIX] =&)



Mode select error 2tH

£] ——
Mode
[ 1 unchecked
Mode not 4

A7 O|2tO| B E MEH T adjust 22| A| 2,

Tide
[ 1 unchecked
Error choose

47 o] BE HE A 2,




L2 O[AA
» Tide, Moonphase O|O|X| =& 0f2&{ Al
* https://github.com/thOOtames1/Digital-Watch

. 52

st

=0 =A

Il
Id

Al
M
I
r
il


https://github.com/th00tames1/Digital-Watch

